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Teign Ltd prepares its financial statements to 30 September each year. The following events took place

between 30 September and the date on which the financial statements were authorised for issue:

(1) The company made a major purchase of plant and machinery.

(2) A customer who owed the company money at 30 September was declared bankrupt.

{€) Which of the above is likely to be classified as an adjusting event according to IAS 10 Events after the.

reporting period?

) only

(@ only

Both

Neither of them

Fowey Ltd has four assets which the directors consider may have become impaired.
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Financial Statements (FNST) practice test 1
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Task 1.1 continued
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[image: image4.png]CP Content Producer - [879P923: Task 1.3]

| 03001 ]

Candidate No: 1234656 @© Question: 12

Section 1 - Tasks and Questions

Elm plc will be undertaking some research and development activities in the near future. The directors of Elm plc
understand that such activity may resultin the recognition of an intangible asset

Frepare brief notes for the directors of Elm plc to answer the following questions.

(a) Whatis meant by an

angible asset according to IAS 38 ntangible assets?

*an idenifiable, non-monetary assetwithout physical substance” (para 8)

(b) What would Elm plc have to demonstrate about an intangible asset arising from development
activities before it can be recognised as an intangible asset in the financial statements?

Eim plc would have 10 demonsirate (nara 67 of 1AS 38).

- the technicai feasibity of completing the intangile asset so thattwil e available for use or sale,

. ts intention to complete the intanjible asset and use or sell

- ts abilty to use or sellhe intanoible assef,

- how the ntangible asset willgenerate fuure economic benefts,

. the availabiltyof adequate technical, inancial and other resources to complete the development and to
use or sell the intangible asset,

- ts abilty to measure reliably the expenditure atiibutable to the intangible asset during it development
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(a) Is this statement true or false?

‘Bovey Ltd holgs three distincttypes of inventory in its warehouse atthe end ofits accounting year, which

are valued as follows:
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(b) What will be the value of closing inventories in the financial statements of Bovey Ltd in accordance with 1AS 2
Inventories?
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Task 1.4 continued
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Task 1.5
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Task 1.5, continued



Task 2.1
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NOTE:

The model answers show figures rounded down (with the exception of the first two answers which do not require rounding).
Answers rounded up are equally valid (e.g. 9.4 an equally valid response for ‘Return on capital employed’).
Task 2.2

Notes for Nancy Charlton regarding a possible investment in Limden Ltd

(a)

	(i)
	The gross profit ratio has improved.

	
	More gross profit is being generated by sales/gross profit margin on sales.

	
	Improvement may be due to increasing its sales price or decreasing the cost of sales or both.

	
	Could have been a change in the product mix.


	
	

	(ii)
	The operating profit ratio has deteriorated.

	
	Less operating profit is being generated from sales.

	
	Either a decrease in the sales margins or an increase in expenses, or both.

	
	As the gross margins have improved, must be the result of an increase in expenses.


	
	

	(iii)
	The return on equity has deteriorated.

	
	Less net profit is being generated from equity.

	
	

	(iv)
	The gearing ratio has deteriorated.

	
	Could cause problems obtaining loans in the future

	
	More risky

	
	May have taken out additional loans during the year

	
	

	(v)
	The interest cover ratio has deteriorated.

	
	Less operating profit to cover interest payments.

	
	More risky

	
	Caused by lower operating profits/higher interest payments

	
	Higher interest payments could be due to new loans taken out during the year.

	
	

	(b)
	Nancy should be advised not to invest since only the gross profit percentage has improved whilst overall profitability has deteriorated and any investment would be risky.

	
	


Task 2.3
[image: image10.png](a) Identify the five elements of financial statements in accordance with the IASB Conceptual Framework
for Financial Reporting.

(b) Explain the circumstances in which an item that meets the definition of an element should be
recognised in the financial statements.

a)
Asset
Liaviiity
Equity
income.
Expense.

(Paragraphs 4.4 & 4.25]

(0) An item that meets the definition of an element should be recognised if:
) itis probable that any future economic benefit associated with the item willflow to or from the entity and
) the tem has a cost or value that can be measured with reliabilt.

(Paragraph 4 38





